



$$B \cong \{(a, c)\} \quad \psi: G \times C \rightarrow A$$

$$g(a, c) = (ga + \psi_g c, gc) \quad \psi_g c \in A$$

$$g = g_1 g_2 : \quad \psi_{g_1 g_2}(c) = g_1 \psi_{g_2}(c) + \psi_{g_1}(g_2 c)$$

$$\Phi_f: B \rightarrow B \quad \text{by} \quad (a, c) \mapsto (a + fc, c)$$

$$\text{inverse: } (a, c) \mapsto (a - fc, c)$$

$$g \Delta_f(a, c) := \Phi_f^{-1}(g \Delta(\Phi_f(a, c))) \quad f: C \rightarrow A$$

$$= \Phi_f^{-1}(g \Delta(a + fc, c)) =$$

$$= \Phi_f^{-1}(ga + gfc + \psi_g(c), gc)$$

$$= (ga + \underbrace{gfc + \psi_g(c) - fg_c}_{\psi_g^f(c)}, gc)$$

$$\psi_g^f(c)$$

In the CUW case:

$$0 \rightarrow \{uw\} \xrightarrow{G \otimes G^*} \{c, uw\} \xrightarrow{R^n} \{c\} \rightarrow 0$$

$$\text{So } \psi_g(c) \text{ is } \psi: PWB_n \times \underline{n} \rightarrow G \otimes G^*$$